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. This booklet consists of fifty (50) compulsory questions each carrying 2 marks.
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4. Examine the question booklet carefully and tally the number of pages/questions in the booklet with the information

printed above. Do not accept a damaged or open booklet. Damaged or faulty booklet may be got replaced
within the first 5 minutes. Afterwards, neither the Question Booklet will be replaced nor any extra time given.

5. Each Question has four alternative responses marked (A), (B), (C) and (D) in the OMR sheet. You have to .

completely darken the circle indicating the most appropriate response agamst each item as in the illustration.
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7. “Use only Blue/Black Ball point pen.

8. Rough Work is to be done on the blank pages provided at the end of this booklet.

9. Ifyouwrite your Name, Roll Number, Phone Number or put any mark on any part of the OMR Sheet, except
in the spaces allotted for the relevant entries, which may disclose your identity, or use abusive language or
employ any other unfair means, you will render yourselfliable to disqualification.

10. You have to return the Original OMR Sheet to the invigilators at the end of the examination compulsorily and
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booklet and the duplicate copy of OMR Sheet on conclusion of examination.

11. Use of any calculator, mobile phone or log table etc. is strictly prohibited.
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1 Typelerroris whenthe null Hypothesisis:
(A) trueandthe researcher fails to reject it
(B) trueandthe researcher rejects it
(C) falseandthe researcher rejects it
(D) falseandthe researcher fails to reject

5 Social work practice based on the “best scientific

evidence available” is termed :
(A) Evidence-based practice
(B) Scientific Social Work
(C) Experimental Research
(D) ActionResearch

3. Research focused onreal-world problems is called :

(a) Real Research

(B) Applied Research

(C) Problem Based Research
(D) World Problem Research

4. “Theperson educated through foreign language is

sure to be unpatriotic” This statementis :
(A) afact

(B) anadvise

(C) anopinion

(D) aprejudice

5 Something with more than one valueis called :

(A) Constant
(B) Value
(C) Factor
(D) Variable

6. oo samples are selected by methods of

(A) Random

(B) Non-random
(C) Convenience
(D) Snowball
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from that population.
(A) Inferential

(B) Descriptive
(C) Random

(D) Exploratory

Luther Gulick has invented amagic formula to describe
seven functions of social welfare administration known
as POSDCoRB Later on, another alphabet “E” was
added at the end making it as POSDCoRBE. The
new added alphabet E as eighth function is meant
for:

(A) Education

(B) Extension

(C) Evaluation

(D) Experimentation

Nominal, ordinal, interval, and ratio are levels of

(A) Determination
(B) Measurement
(C) Variation

(D) Generalisation

Consider the responses on a class evaluation question
excellent, good, fair, or poor. © Excellent” is higher
than “good,” which is higher than “fair,” which is higher
than “poor. Thisdenotes ............... type of
scale.

(A) Nominal
(B) Ordinal
(C) Interval
(D) Ratio
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12,

13.

14.

............... can be considered a particular type of
sample survey in which the sampling rate is 100%.
(A) Sample study

(B) Census study

(C) Casestudy

(D) Random study

Multiculturism implies :

(A) Opposition of cultural imperialism and
homogenisation

Learning from other cultures

Supporting hegemony of at least two cultures

®)
©
D)

Promoting inter caste marriages

Indicate which of the following is a random sample :

(1) A computer program generates a random list
of clients who will participate in a follow-up
study.

() Social workers, working from memory, provide

alist of clients who they believe would want to

participate in a follow-up study.

Clients who keep their appointments

participate in a study. (Those who do not ,do

not participate.)

One hundred students are selected by “the luck

of the draw™ to take part in a campus opinion

survey.

Code:

(A) (i)and (i)

B) (i)and (iii)
(€©) Dand(iv)

(D)  (iD)and (ii1)

(iif)

()

Twenty persons respond to a questionnaire about
height: five respond that they are short, eight respond
that they are medium height, and seven respond that
they are tall. What is the mode ?

(A) Short

(B) Medium

(C) Tall

(D) Medium and Tall
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16.

17.

18.

19:

Which set has greater Variability ?
(A) 6,7,8,9,10

B) 4,6,8,10,23

(C) 1,2,34,5

D) 3,4,5,6,7

The concept of Decent Work is promoted by :
(A) International Labour Organisation

(B) World Bank

(C) Labour Department of Gujarat Government
(D) Central Board of Workers’ Education

Two variables are ... ......... when the values
observed for one variable vary, differ or change
according to those of the other.

(A) Related

(B) Unrelated
(C) Correlated
(D) Dissociated

A way of measuring, understanding, reporting and
ultimately improvingan organization’s social and ethical
performance is called :

(A) Social audit

(B) Financial audit

(C) Administrative audit

(D) Business audit

Indicate which of the following research designs uses

random assignment to groups.

() A staffing committee assigns youth, based on their
needs, to Program A or Program B

(i) A professor picks names out of a hat to decide
which of two curricula students will be assigned
to.

Participants choose which of the three smoking
prevention programs they will participate in.
An elder care program uses a computer program
that randomly picks which worker will be
assigned to incoming clients.

(1) and (iit)

(i) and (iii)

(iii) and (iv)

(ii) and (iv)

(iif)
()
(A)
B)

©
D)
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22

Fifty persons volunteer to take part in a smoking
cessation study. Methods of chance are used to assign
25 persons to Method A and 25 to Method B.

Identify the correct response(s)

() Thisstudyuses random sampling.

(i) ~This studyuses random assignment.

(i) This study will allow the researcher to draw
causal conclusions about the relative
effectiveness of the two methods.

@(iv) In this research design, many different
confounding variables are likely to bias the
results.

(v) Theresearcher canuse inferential statistical
procedures to draw conclusions about many
different populations across the country.

(A) ()and (i)

(B) (ii)and (ii1)

(C) (i) and (iv)

D) (iv)and(V)

Which of the following isnota Social Security Act?
)
B)
©)

The Employees’ State Insurance Act, 1948
The Payment of Gratuity Act, 1972

The Employees’ Provident Fund and
Miscellaneous Provisions Act, 1952

(D) The Payment of Bonus Act, 1965

NAAC stands for:

(A) NationalAcademicAccreditation Council
(B) National Assessment and Accreditation Council
(C) National Accreditation for Academic Colleges
(D) National Academic Assessment Council
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27.

RSBY stands for:
(A)
®)
©
©)

Rajiv Swasthaya Bima Yojana
Rashtriya Swasthya Bima Yojana
Rashtriya Swabhalam Bacchat Yojana
Railway Security Building Yardstick

Financial Inclusion Programme of Government of
India:

A
B)
©)
D)

Atal Pension Yojana

Pradhan Mantri Jan Dhan Yojana
Pradhan Mantri Jivan Jyoti Bima Yojana
Surakha Bima Yojana

Which one of the following is not amethod of social
work 7

(&)
B)
©)
D)

Casework
G:r_oupwork
Counseling
Community Work

The year 1936 marksa key milestone in the history of
setting up of professional Social Work in India because
of the setting up of :

(A)
B)
©

Reformatory School Act
Children Act

Sir Dorabji Tata Graduate School of Social

Work
(D) Delhi School of Social Work

Which of the following was not part of the four general
principles of operation of Charity Organisation Society 7
(A) Detailed investigation

(B) Co-operation between various relief agencies
(C) Acentral system of registration

(D) Extensiveuse of mandatory professional yisitor
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28. Match The following :

29,

30.

Book Author
(a) Ideologiesand @) Anjali Gandhi
Social Work
(b) School Social Work (i) M ZKhan
(c) Social Welfare (i) Shankar Pathak
(d) Work by Jail (iv) Murli Desai
Inmates
Code :
@ O (© @
@ O @ @ @)
® @ O @ @)
© v O W @®
O @ O @ G
Match the method to its principle :
(a) Casework (i) of Specific Objectives
(b) Groupwork (i) of Focussed Discontent
(¢) Community (i) ofIndividualisation
Organisation
(d) SocialAction (iv) of Capacity Building
Code :

@@ (b (© @
@ @ @ @ )
® @ @O @ )
© v O @ @
®) @ O @ @w)

Assertion 1 : Progress is a value loaded term

denoting movement.

Assertion 2 : Growth is avalue loaded term denoting

quantitative increase.
(A) BothAssertion 1 and 2 are true
(B) Assertion 1is true and 2 is false
(C) BothAssertions 1 and 2 are false

(D) Assertion2istrueand 1 is false
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Match the following :
Defence Mechanism Example

(a)
(b)
©
(d)

Repression
Regression
Inhibition

(i) Writers Block
(i) Childlike Behaviour
(i) Slip ofthe tongue

Intellectualisation (iv) Excessive Logical
Explanations

Code:

@ @
B @
© W O
O) @) ()

@ (b)
(i)
@

(d)
(iv)
()
(i)
(iv)

©
(1)
(i)
(i)
@

Match the following:

(a)
(b)
©
(d)

Programme
Start Up India
Digital India
Make in India
Skill India

@

(i)
(iif)
()

Code:

Aa) O
B @ O
© W O
O) @ @
33. Match the following :

(a)
(b)

(©)
(d)

(@ ©)
(i)

(d)
(iv)
(iv)
(i)
(W)

©
(&)
(i)
(i)
(i)

Policy

National Policy on
Education

National Policy for the
Empowerment of Women
National Literacy Mission
Sarva Shiksha Abhiyan

Code:

A @
® @
© W)
(D) (i)

(b)
()
@
@
@

© @
(i) ()
(i) @)
(i) (i)
@ ()

(@)

Year

2014
2015
2016
2015

Year
i 1968

(i) 1988

(i) 2000
@(v) 2001
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World AIDS dayison:
(A) 12" January

(B) 8"March

(C) 5™ June

(D) 1% December

123
i

d
Lh

acceptable by a society or culture is called :
(A) Maladaptive Behaviour

(B) Deviant Behaviour

(C) - Extra social Behaviour

(D) Eclectic Behaviour

36. Match the following:

Phobia Fear of
(a) Acrophobia (i) Blushing
(b) Xenophobia (iy Highplaces
(c) Algophobia (i) Strangers
(d) Erythrophobia (iv) Pan
Code:

@ b © @
@ @ @@ @
® @ @ O
© @ O @ O
o @ O @ )

37. Match the following:

Social Work Emphasis
Ideologies
(@) Radical () Deconstructing

professional power

(i) Change existing
institutions

(b) Progressive

(c) Feminist (iii) PublicIssues
(d) Postmodemism (V) Gender
Code:

@ ® © @
@ O @ @ @
®) @ @ @ O
© @ @ @@ @
o) @ @ @
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40.

41.

Social Welfare Administration does not include the
following skill :

In Staff Selection
Defining Objectives
Developing Work Methodology

(A)
®)
©
®)

Individual Non-team Work

39. Transference can be utilised for :

)
B)
©
D)

Emotional Bonding
Directing the Client
Diagnosis

Action

............ contributed to literature on Community
Organisation.

(A) Richmond

(B) Hollis

(C) Hamilton

(D) Ross

Identify the technique of Social Casework Practice
(A)
®)
(©)
D)

Educating
Research
Paraphrasing
[nteraction

Identify the tool of Soc ial Work :
(A)
®)
©)
©)

Conscious Use of Self
Observing

Listening

Questioning

43. Putting the Client above you constitutes :

(A) Social Work

(B) Social Welfare

(C) Social S ervice

(D) Social Development
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46. Assertion (A) : Constitutional provisions alone can’t

"ASHA denotes :

(1) Association of Scientific Health Activists
(B) Association of Socia] Health Activists
(C)  Accredited Social Health Activists

(D)  Accredited Social Health Association

Assertion (A) : In Crisis Intervention the social
worker has to take leadership and
direct the client.

Reason (R): Crisisisa situation of extreme stress

which incapacitates the client’s|

decision making capacities.
Codes :
(A) (A)iscorrect but (R) is not correct
B) (A)isnotcorrect but (R)is correct

(C) Both(A)and (R) are correct and (R)isnot the
correct explanation to (A)

(D) Both (A) and (R) are correct and (R) is the

correct explanation of (A) 48.

reduce casteism.

Reason (R) : Effective implementation of the
reservation policy will ensure
inclusion.

Code:

(A) Both(A)and (R) are correct

(B) (A) is correct but (R) is not the correct
explanation to (A)

(C) Both(A)and (R) are not correct
(D) (A)iscorrectand (R) s the correct explanation

b3

47.

49,

50.

Question Nos. 47-50

Read the passage and answer the questions (47-50),
that follow based on your understanding of the
passage :

“Professional social workers’ primary responsibility
is stressed to be with the marginalised and other
people in need with whom they work. Empathy is
considered necessary for giving credence/value to
their life experiences. Systemic change is to be
targeted at, on behalf ofand in partnership with them.
Partnership with people should aim at facilitating
mutual reflection on the life situation of both. People
themselves have to play an active role in relation to
the course of action to be taken about their life
situation. Their access to resources and opportunities
has to be facilitated”

Professional Social Workers’ primary responsibility
isnot:

(A) tobewiththe marginalised people .

(B) tobe with other people in need.

(C) to be with the people with whom they work .

(D) to be with the politically advantage giving
groups.

Empathy is considered necessary for giving credence
orvalueto :

(A) life experiences of the marginalised
(B) life experiences of the social workers
(C)  life experiences of clients

(D)  life experiences of the care providers

What should be targeted ?
(A) Empathy

(B) Systemic changes
(C) Partnership

(D) Resources

The main actorin bringing change in life situation js :
(A) Theclient

(B) System

(C) Partnership

(D) Social Worker
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